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TNPSC GROUP I RAPID test batch – 2020 
TEST II – GEOGRAPHY OF INDIA 

 
1. Ten most populous countries of the world together make up nearly ________ of the world’s 

population.  
a. 40%  b. 50%  c. 60%  d. 70% 
cyfpy; gj;J kpf mjpf kf;fs;njhiff; nfhz;l ehLfs; Nru;e;J cyfpd; ___ 
kf;fs;njhifiaf; nfhz;Ls;sd. 
a. 40%  b. 50%  c. 60%  d. 70% 
 

2. Choose the correct statements: 

i) Nutritional density is the ratio between total population and total cropped area.  

ii) The total arable land in the world is 12.9%.  

iii) The nutritional density of the world is 325 per sq.km of land.  
a. i, ii   b. i, iii  c. i, iii  d. i, ii, iii 
rupahd $w;wpid Nju;e;njL. 

i) Cl;lr;rj;J mlu;j;jp vd;gJ nkhj;j kf;fs;njhiff;Fk;. nkhj;j gapuplg;gl;l gug;gsTf;Fk; 
,ilNaahd tpfpjhr;rhuk;. 

ii) cyfpd; tpisepyk; 12.9%. 

iii) cyfpd; Cl;lr;rj;J mlu;j;jp tPjk; xU rJu fpNyhkPl;lUf;F 325 Ngu;. 
a. i, ii   b. i, iii  c. i, iii  d. i, ii, iii 

 
3. Density of population is measured as  

a. Land area/Employment    
b. Land area/Total population 
c. Total population/Employment  
d. Total population/Land area of the region 
kf;fs;njhif mlu;j;jpia mstpLtJ. 
a. epyg;gug;G/Ntiytha;g;G   
b. epyg;gug;G/nkhj;j kf;fs;njhif 
c. nkhj;jkf;fs;njhif/Ntiytha;g;G 
d. nkhj;jkf;fs;njhif/gFjpapd; epyg;gug;G 
 

4. Consider the following statements: 
i. The areas of moderate density of population have between 10 to 80 persons per sq.km. 
ii. About one third area of the world has population less than 10 persons per sq.km. 
iii. Population density of Australia is 2 persons per sq.km 
a. i, ii and iii are correct   b. i and ii are correct  
c. i and iii are correct   d. ii and iii are correct  
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gpd;tUtdtw;iw Muha;f. 
i. kpjkhd kf;fs;njhif mlu;j;jpg;gFjpfs; xU rJu fpNyhkPl;lUf;F 10 Kjy; 80 

Ngiuf;nfhz;Ls;sd. 
ii. cyfpd; %d;wpy; ,uz;Lg; gFjpfs; xU rJu fpNyhkPl;lUf;F 10 NgUf;F Fiwthd 

kf;fs;njhif mlu;j;jpiaf; nfhz;Ls;sJ. 
iii. xU rJu fpNyhkPl;lUf;F ,uz;L NgUld; M];jpNuypah kf;fs;njhif mlu;j;jpiaf; 

nfhz;Ls;sJ. 
a. i, ii kw;Wk; ii rup    b. i kw;Wk; ii rup 
c. i kw;Wk; iii rup    d. ii kw;Wk; iii rup 
 

5. Choose the incorrect statement: 

i) Niger has the highest fertility rate. 

ii) Mexico has the lowest fertility rate. 

iii) South Sudan has the highest population growth rate.  
a. i, ii  b. ii only  c. iii only  d. none 
jtwhd $w;wpidj; Nju;e;njL. 

i) cyfpNyNa ie[upy;jhd; kpf mjpf fUTUjy; tpfpjk;. 

ii) nkf;rpNfhtpy; kpf Fiwthd fUTUjy; tpfpjk;. 
iii) cyfpNyNa njw;F#lhd; kpf mjpf kf;fs;njhif tsu;r;rp tPjj;ijf;nfhz;lJ. 
a. i, ii  b. ii kl;Lk;  c. iii kl;Lk;  d. VJkpy;iy 
 

6. The population of India is expected to surpass china in __________ 
a. 2022  b. 2023  c. 2024  d. 2025 
,e;jpahtpd; kf;fsnjhif rPdhit kpQ;rptpLk; vd vjpu;g;ghu;f;fg;gLfpd;w Mz;L ____. 
a. 2022  b. 2023  c. 2024  d. 2025 
 

7. Choose the correct statements: 
i) India population is 17.74% of the total world population.  
ii) The population density of India is 455 per km2. 
iii) 33.6% of the population is urban in India. 
a. i and ii  b. i only  c. iii only  d. All of these 
rupahd $w;wpidj; Nju;e;njL. 
i) ,e;jpah cyfpd; kf;fs;njhifapy; 17.74% ia nfhz;Ls;sJ. 
ii) ,e;jpahtpy; kf;fs;njhif mlu;j;jp rJufpNyhkPl;lUf;F 455 Ngu;. 
iii) ,e;jpahtpy; 33.6% Ngu; efu;g;Gw kf;fs;. 
a. i kw;Wk; ii  b. i kl;Lk;  c. iii kl;Lk;   d. Nkw;$wpa midj;Jk; 
  

8. The sex ratio of Tamil Nadu is ___________ 
a. 942 females/1000 males   b. 980 females/1000 males  
c. 996 females/1000 males   d. 1054 females/1000 males 
jkpo;ehl;bd; ghypd tpfpjk; ____. 
a. 942 ngz;fs;/1000 Mz;fs; b. 980 ngz;fs;/1000 Mz;fs; 
c. 996 ngz;fs;/1000 Mz;fs; d. 1054 ngz;fs;/1000 Mz;fs; 
 

9. Which of the following statements is/are correct? 
i) The literacy rate of India is 74.04% 
ii) Literacy rate of Kerala is 93.91% 
iii) Bihar is the least literate state in India  
iv) Six Indian states account for about 60% of all illiterates in India 
a. i, ii, iii  b. iii, iv  c. i, iii, iv  d. all the above 
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gpd;tUk; $w;Wfspy; rupahdit vit? 
i) ,e;jpahtpy; fy;tpawpT 74.04%. 
ii) Nfushtpd; fy;tpawpT 93.91% 
iii) gPfhu; kpfFiwe;j fy;tpawpT nfhz;l khepyk;. 
iv) ,e;jpahtpy; MWkhepyq;fs; 60% fy;tpawptw;wtu;fisf; nfhz;Ls;sJ. 
a. i, ii, iii  b. iii, iv c. i, iii, iv  d. Nkw;$wpa midj;Jk; 
 

10. Presently ___________ state has the highest literacy rate in India.  
a. Kerala   b. Mizoram  c. Tripura  d. Himachal Pradesh 
jw;NghJ ,e;jpahtpy; kpfTk; mjpf fy;tpawpT tpfpjj;ijf; nfhz;Ls;s khepyk; ___. 
a. Nfush  b. kpNrhuk;  c. jpupGuh  d. ,khr;rygpuNjrk; 
 

11. Consider the following statements: 
I. According to UNESCO Institute for statistics, there are 750 million illiterate adults, two-

thirds of whom are women. 
II. Sustainable Development Goals 4 and 5 associated with 2030 targets of Education and 

Gender equality respectively. 
a. i, ii correct     b. i only correct    
c. ii only correct    d. i, ii incorrect 
gpd;tUk; $w;wpid Muha;f. 
I. And];Nfh Gs;spapay; epWtdk; mspj;j jftypd;gb ,d;Dk; 750 kpy;ypad; Ngu; 

vOj;jwptw;wtu;fshf ,Uf;fpd;wdu;> ,jpy; %d;wpy; ,uz;L gq;F ngz;fs; 
II. 2030-k; Mz;bw;fhd fy;tp ,yf;Ffs; Ngzj;jFe;j Nkk;ghL ,yf;Ffs; 4 kw;Wk; 5 I 

milaj; Njitahd nray;fis jPtpukhf Nkw;nfhs;s mwpTWj;JfpwJ. 
a. i, ii rup    b. i kl;Lk; rup 
c. ii kl;Lk; rup   d. i, ii jtW 

 
12. Which of the following statements about Thiruppur is/are correct? 

i. It is located on the banks of the Noyyal River 
ii. It has an average elevation of 295 meters 
iii. Thiruppur bags the fifth fastest growing city in India.  
a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii 
gpd;tUk; $w;Wfspy; jpUg;G+u; gw;wp rupahdit vit? 
i. ,J neha;ay; Mw;wq;fiuapy; mike;Js;sJ. 
ii. ruhrupahf 295 kPl;lu; cauj;jpy; mike;Js;sJ. 
iii. ,e;jpahtpy; kpf Ntfkhf tsu;e;J tUk; khefuq;fspy; 5-tJ ,lj;ijg; ngw;Ws;sJ. 
a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii 
 

13. Which of the following statements about Voyager I spacecraft is/are correct? 
i. It is launched in 1977 by NASA 
ii. Still it is travelling at the speed of 17 km/sec 
iii. The hydrazine is used as fuel in the spacecraft.  
a. i, ii, iii  b. i, ii   c. i, iii  d. ii, iii 
gpd;tUk; $w;Wfspy; thNa[u; tpz;fyk; gw;wp rupahdit vit? 
i. 1977-,y; ehrh epWtdj;jhy; mDg;gg;gl;lJ. 
ii. nehbf;F 17 fp.kP. Ntfj;jpy; ,d;Wk; gazpj;Jf; nfhz;bUf;fpwJ. 
iii. i`l;urpd; vupnghUshfg; gad;gLj;jg;gl;Ls;sJ. 
a. i, ii, iii  b. i, ii   c. i, iii  d. ii, iii 
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14. Match the following: 
Iron Ore   Iron Content 
A. Magnetite  1. 72% 
B. Hematite   2. 50% 
C. Limonite   3. 70% 
D. Siderite   4. 30% 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 3 1 2 4 
d. 3 1 4 2 
nghUj;Jf. 
,Uk;gpd; jhJf;fs; ,Uk;gpd; msT 
A. Nkf;dill;  1. 72% 
B. N`kill;  2. 50% 
C. ypNkhidl;  3. 70% 
D. rpliul;  4. 30% 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 3 1 2 4 
d. 3 1 4 2 
 

15. Which of the following is/are incorrectly matched? 
Iron Ore  Colour  
i) Magnetite  - Red 
ii) Hematite - Black 
iii) Limonite - Grey 
iv) Siderite - Brown 
a. i, ii   b. iii, iv  c. iii only  d. none 
gpd;tUtdtw;Ws; jtwhf nghUe;jpait vit? 
,Uk;gpd; jhJf;fs;  epwk; 
i) Nkf;dill;  - rptg;G 
ii) N`kill;   - fUg;G 
iii) ypNkhidl;  - rhk;gy; epwk; 
iv)  rpliul;  - gOg;G epwk; 
a. i, ii   b. iii, iv  c. iii kl;Lk;  d. VJkpy;iy 
 

16. Iron is mixed with fixed proportions of _______ to make different varieties of steel. 
a. Manganese b. Nickel  c. Vanadium  d. all the above 
v/Ffis cUthf;f ,Uk;NghL Nru;f;fg;gLtJ ___. 
a. khq;fdP];  b. epf;fy;  c. ntNdbak;  d. Nkw;$wpa midj;Jk; 
 

17. The iron ore fields in India includes  
i. Baster region ii. Chitradurg iii. Kudremukh iv. Mayurbbanj region 
a. i, ii, iv  b. ii, iii  c. ii, iii, iv  d. all the above  
,e;jpahtpd; ,Uk;Gj;jhJ tay;fs;. 
i. g];jhu; gFjp ii. rpj;uhJu;f;  iii. FjpiuKf;  iv. kAu;gQ;r; gFjp 
a. i, ii, iv  b. ii, iii c. ii, iii, iv  d. Nkw;$wpa midj;Jk; 
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18. Which of the following statements is/are incorrect? 
i) Copper is found in the igneous and metamorphic rocks  
ii) Copper + Tin → Brass 
iii) Copper + Zinc → Bronze  
a. i and ii  b. ii and iii  c. i only  d. none  
gpd;tUk; $w;Wfspy; jtwhdit vit? 
i) jhkpuk; jPg;ghiwfs; kw;Wk; cUkhwpag; ghiwfspy; fhzg;gLfpwJ. 
ii) jhkpuk; + nts;sPak; → gpj;jis 
iii) jhkpuk; + Jj;jehfk; → ntz;fyk; 
a. i kw;Wk; ii  b. ii kw;Wk; iii  c. i kl;Lk;  d. VJkpy;iy 
 

19. India ranks ___________ in the world’s production of the copper  
a. 8th    b. 11th   c. 24th   d. 35th  
cyfstpy; jhkpu cw;gj;jpapy; ,e;jpah ___ ,lj;ijg; ngw;Ws;sJ. 
a. 8-tJ  b. 11-tJ  c. 24-tJ  d. 35-tJ 
 

20. The fool’s gold refers to pyrite of ___________ 
a. Iron Oxide    b. Iron Sulphide  
c. Aluminium Oxide  d. Aluminium Sulphide 
Kl;lhs;fspd; jq;fk; vd;W miof;fg;gLtJ ____. 
a. ,Uk;G Mf;i]L   b. ,Uk;G ry;/igL 
c. mYkpdpak; Mf;i]L  d. mYkpdpak; ry;/igL 
 

21. Which of the following is/are non-renewable sources of energy? 
i. Fossil fuels ii. Biomass  iii. Natural gas 
iv. Geothermal v. Petroleum  
a. ii, iii  b. ii, iii, iv  c. ii, iv  d. ii only 
gpd;tUtdtw;Ws; GJg;gpf;f ,ayhj tsq;fs; vit? 
i. Gijgbk vupg;nghUl;fs; ii. capu;thArf;jp iii. ,aw;if vupthA  
iv. Gtpntg;g Mw;wy;  v. ngl;Nuhypak; 
a. ii, iii  b. ii, iii, iv  c. ii, iv  d. ii kl;Lk; 
 

22. Arrange the following in ascending order based on their carbon content? 
i. Bituminous  ii. Peat  iii. Anthracite   iv. Lignite 
a. i, ii, iv, iii  b. ii, i, iv, iii  c. ii, iv, i, iii  d. ii, i, iii, iv 
gpd;tUtdtw;iw mtw;wpd; fhu;gd; msit mbg;gilahf nfhz;L VWtupirapy; 
mikf;fTk;. 
i. gpl;Lkpd];  ii. gPl;  iii. Me;jpuhirl;  iv. ypf;idl; 
a. i, ii, iv, iii  b. ii, i, iv, iii  c. ii, iv, i, iii  d. ii, i, iii, iv 

 
23. Consider the following statements: 

I. Mineral oil is formed by slow chemical and bio-chemical decomposition of the remains 
of organic matter in sedimentary rocks. 

II. Mineral Oil is found in the pores of the metamorphic rocks  
a. i, ii correct  b. i only correct  
c. ii only correct  d. i, ii incorrect 
gpd;tUk; $w;Wfis Muha;f. 
I. gbTg;ghiwfspy; fhzg;gLk; vQ;rpAs;s fupkg; nghUl;fs;> Ntjpapay; kw;Wk; capu; 

Ntjpapay; rpijTfshy; fdpk vz;nza; cUthfpwJ. 
II. fdpk vz;nza; cUkhwpag; ghiwfspd; Jisfspy; fhzg;gLfpwJ. 
a. i, ii rup b. i kl;Lk; rup  c. ii kl;Lk; rup  d. i, ii jtW 
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24. Which of the following is/are correctly matched regarding nuclear accidents? 

i) Three mile island - March 28, 1979 

ii) Chernobyl   - April 21, 1986  

iii) Fukushima Daiich - March 11, 2011 
a. i, ii and iii  b. i and ii  c. i and iii  d. ii and iii 
gpd;tUtdtw;Ws; mZrf;jp tpgj;Jfs; gw;wp rupahfg; nghUe;jpait vit? 

i) %d;W iky; jPT  - khu;r; 28> 1979 

ii) nru;Ndhgpy;  - Vg;uy; 21> 1986 

iii) GF~pkh lha;r;rp  - khu;r; 11> 2011 
a. i, ii and iii  b. i and ii  c. i and iii  d. ii and iii 
 

25. Which of the following statements about Noor complex is/are correct? 
i) Noor complex is the world’s largest solar power plant  
ii) It is located in Kalahari desert 
a. i, ii  b. i only  c. ii only  d. none 
gpd;tUk; $w;Wfspy; E}u;fhk;g;sf;]; Fwpj;J rupahdit vit? 
i) cyfpd; kpfg;ngupa mstpy; mlu;j;jpahd #upa Mw;wy; Miy. 
ii) ,J fhy`hup ghiytdj;jpy; mike;Js;sJ. 
a. i, ii  b. i kl;Lk;  c. ii kl;Lk;  d. VJkpy;iy 

 
26. Choose the correct statements about Kamuthi solar plant project? 

i. The project was commissioned by Adani power  
ii. Its power generating capacity is 648 MW 
iii. It was completed on 21 September 2016 
iv. The entire solar park is connected to a 800kv substation of the Tamilnadu Transmission 

corporation  
a. i, ii   b. iii, iv   c. i, ii, iii  d. all the above  
fKjp #upa kpd;rhu jpl;lk; gw;wpa rupahd $w;Wfs; vit? 
i. ,J mjhdp kpd; jpl;lj;jhy; njhlq;fg;gl;lJ. 
ii. 648 nkfhthl; cw;gj;jpj; jpwd; nfhz;lJ. 
iii. ,j;jpl;lk; 21 nrg;lk;gu; 2016-y; Kbf;fg;gl;lJ. 
iv. KO #hpa g+q;fhTk; jkpo;ehL ghpkhw;w fofj;jpd; 800 fpNyhthl; Jiz kpd; 

epiyaj;Jld; ,izf;fg;gl;Ls;sJ. 
a. i, ii   b. iii, iv  c. i, ii, iii  d. Nkw;fz;l midj;Jk; 
 

27. India’s largest wind farms is located at _________ 
a. Kamuthi   b. Vadodara    
c. Muppandal  d. Aralvazhmozhi 
,e;jpahtpd; kpfg;ngupa fhw;whiyg; gz;iz mike;Js;s ,lk;? 
a. fKjp   b. tNjhjuh 
c. Kg;ge;jy;   d. Muy;tha;nkhop 

 
28. Arrange the following in descending orders based on their contribution to world’s 

electricity generation 
i. Nuclear energy ii. Coal iii. Wind Energy iv. Hydel Energy 
a. ii, iv, i, iii  b. ii, i, iv, iii c. i, ii, iv, iii  d. i, ii, iv, iii 
cyfpd; kpd;rhu cw;gj;jpf;F gpd;tUtd mspj;j gq;fspg;gpid ,wq;F thpirapy; 
thpirg;gLj;Jf 
i. mZ Mw;wy; ii. epyf;fhp  iii. fhw;W Mw;wy; iv. ePuhw;wy; 
a. ii, iv, i, iii  b. ii, i, iv, iii c. i, ii, iv, iii  d. i, ii, iv, iii 
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29. Which of the following is/are incorrectly matched? 
Minerals   India’s Rank  
i) Iron Ore   - 4th  
ii) Manganese  - 6th  
iii) Bauxite   - 5th  
iv) Gold   - 33rd  
a. i, ii  b. iii, iv  c. ii only  d. none 
jtwhd ,iziaf; fhz;f 
jhJf;fs;  ,e;jpahtpd; epiy 
i. ,Uk;G jhJ - 4tJ 
ii. khq;fdpR  - 6tJ 
iii. ghf;irl;  - 5tJ 
iv. jq;fk;  - 33tJ 
a. i, ii  b. iii, iv  c. ii kl;Lk;  d. VJkpy;iy 

 
30. Match the following: 

Economic Activity  Name 
A. Primary   - 1. Blue Collar  
B. Secondary  - 2. Red Collar  
C. Tertiary  - 3. White Collar 
D. Quaternary  - 4. Pink Collar  
E. Quinary  - 5. Gold Collar  
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 3 5 
c. 2 4 1 3 5 
d. 1 2 4 3 5 
nghUj;jf 
nghUshjhu eltbf;if ngah;fs; 
A. Kjy; Jiw  1. ePy epw fOj;Jg;gl;il 
B. ,uz;lhk; Jiw  2. rptg;G epw fOj;Jg;gl;il 
C. %d;whk; Jiw  3. nts;is epw fOj;Jg;gl;il 
D. ehd;fhk; Jiw  4. ,sQ;rptg;G epw fOj;Jg;gl;il 
E. Ie;jhk; Jiw  5. jq;fepw fOj;Jg;gl;il 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 3 5 
c. 2 4 1 3 5 
d. 1 2 4 3 5 
 

31. Choose the incorrectly matched pairs 

i) Pomology - Study of crop circles  

ii) Olericulture  - Science of Vegetable growing  

iii) Floriculture  - Cultivation of flowers  

iv) Sericulture  - Rearing of Silkworms  
a. i and ii  b. i only  c. ii only  d. none 
jtwhd ,iziaf; fhz;f 
i. Nghkhy[p  - gaph;fis gw;wpa gbg;G 
ii. xNyhpfy;r;rh; - fha;fwp tsh;g;G mwptpay; 
iii. /g;Nshpfy;r;rh; - g+f;fs; gaphpLjy; 
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iv. nrhpfy;r;rh; - gl;Lg;g+r;rp tsh;j;jy; 
a. i kw;Wk; ii  b. i kl;Lk;  c. ii kl;Lk;  d. VJkpy;iy 
 

32. The Indie cultural realm is called as paddy culture by 
a. D. Stamp  b. Baker   c. Weber   d. Carl Ritter  
,e;jpa fyhr;rhu kz;lyj;ij ney; fyhr;rhuk; vd;W mioj;jth; ___________ 
a. D. ];lhk;g;  b. Ngf;fh;  c. ntgh;  d. fhh;y; hpl;lh; 
 

33. Which of the following statements is/are correct? 
i) The Caucasoid is known as “White people”. 
ii) Native Americans and Eskimos are classified as Caucasoid  
iii) Living in Europe and Middle East  
a. i, ii and iii  b. i and iii  c. i and ii  d. ii and iii 
rhpahd $w;Wfis fz;lwpf 
i. fhfrha;L ,d kf;fs; “nts;isah;” vd miof;fg;gLfpd;wdh;. 
ii. g+h;tPf mnkhpf;fh;fs; kw;Wk; v];fpNkh ,d kf;fSk; fhfrha;Lfshf 

tifg;gLj;jg;gl;Ls;sdh; 
iii. INuhg;gh kw;Wk; kj;jpa fpof;F ehLfspy; trpf;fpd;wdh; 
 a. i, ii, iii  b. i, iii   c. i, ii   d. ii, iii 
 

34. Which of the following race has the smallest limb ratio? 
a. Negroid    b. Caucasoid    
c. Mongoloid   d. Australoid 
gpd;tUk; ve;j kpfr;rpwpa %l;L tpfpjj;ij nfhz;Ls;sJ? 
a. ePf;uha;L   b. fhfrha;L 
c. kq;Nfhyha;L  d. m];l;uhyha;L 

 
35. Which is the oldest ethnic religion of the world? 

a. Christianity   b. Islam  c. Hinduism   d. Buddhism  
cyfpd; kpfg;goikahd kjkhf fUjg;gLtJ vJ? 
a. fpwpj;jtk;   b. ,];yhk;  c. ,e;Jkjk;  d. Gj;j kjk; 

 
36. Which of the following is regarded as the parent of Christianity? 

a. Aminism   b. Judaism   c. Buddhism   d. Shamanism 
fpwpj;jtj;jpd; jha; kjkhf fUjg;gLtJ vJ? 
a. Md;kthjk; b. A+jkjk;  c. Gj;jkjk;  d. #d;a ek;gpf;if 
 

37. Consider the following statements: 
I: The first second and third world believe that “the land belongs to 
  the people” 
II: The tribal people are being termed as the fourth world 
a. I, II correct   b. I only correct  
c. II only correct   d. I, II incorrect 
gpd;tUk; $w;Wfis Ma;f 
I. Kjy;> ,uz;lhtJ kw;Wk; %d;whk; cyfq;fs; “epyk; kf;fSf;F nrhe;jkhdJ” vd 

ek;Gfpd;wdh;. 
II. goq;Fb ,d kf;fs; ehd;fhtJ cyfk; vd ek;gg;gLfpwhh;fs; 
a. I, II rhp   b. I kl;Lk; rhp 
c. II kl;Lk; rhp  d. ,uz;Lk; jtW 
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38. Which of the following tribal group distributed in the Equatorial forest region? 
a. Pigmy  b. Semang   c. Boro  d. all the above 
gpd;tUtdtw;wpy; ve;j goq;fb ,d kf;fs; g+kj;jpa Nuif fhl;Lg;gFjpapy; tho;fpd;wdh;? 
a. gpf;kP  b. nrkhq;  c. NghNuh  d. ,it midj;Jk; 
 

39. Match the following: 
A. Grasslands   1. Aborigines  
B. Tropical Deserts   2. Kyrghizs  
C. Mountainous Region  3. Gujjar  
D. Monsoon Region   4. Todas  
E. Artic cold regions   5. Chukchi 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 3 5 
c. 2 1 3 4 5 
d. 5 1 4 2 3 
nghUj;Jf 
A. Gy;ntsp    1. mghhp[pd;]; 
B. ntg;gkz;ly ghiytdq;fs; 2. fph;fp]; 
C. kiygpuNjrk;   3. F[;[hh; 
D. gUtfhw;W gpuNjrk;  4. Njhlh;fs; 
E. JUt Fsph; gpuNjrk;  5. Rf;fp 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 3 5 
c. 2 1 3 4 5 
d. 5 1 4 2 3 
 

40. Which of the following tribal groups are called as Negrillos? 
a. Bushman   b. Bedouin   c. Pigmies   d. Masai 
gpd;tUtdtw;wpy; ePf;Nuhy;yp]; vd miof;fg;gLk; goq;Fb ,d kf;fs; ahh;? 
a. G];khd;  b. gpNlha;d;  c. gpf;kPf;fs;  d. krha; 
 

41. Which of the following statements about Masai tribal group is/are correct? 
i) The best Pastrol society and cattle herders 
ii) Their lips are less more than that of Negroid people 
iii) Masai occupy the interior plateau of the equatorial Africa 
a. i, ii and iii  b. i and ii  c. ii and iii  d. i and iii 
krha; goq;Fb ,d kf;fs; njhlh;ghd rhpahd $w;Wfis fz;lwpf 
i. jdpj;Jtk; tha;e;j fhy;eil Nka;g;gth;fshf mwpag;gLfpwhh;fs; 
ii. mth;fsJ cjLfs; ePf;uha;L ,d kf;fistpl mjpfkhf jbj;J ,Uf;Fk; 
iii. Mg;gphpf;fhtpd; kj;jpa gPlg+kpapy; krha; kf;fs; fhzg;gLfpd;wdh;. 
a. i, ii, iii  b. i, ii   c. ii, iii   d. i, iii 

42. Choose the correct statements about Bhils tribal group 
i) They are popularly known as the bowman of Rajasthan  
ii) The largest tribal group in South Asia 
iii) It is divided into two main groups  
a. i, ii and iii  b. i and ii  c. i and iii  d. ii and iii 

 gpy;]; goq;Fb ,d kf;fs; njhlh;ghd rhpahd $w;Wfis fhz;f 
i. mth;fs; uh[];jhdpd; gpugykhd tpy; kdpjh;fs; vd mwpag;gLfpwhh;fs; 
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ii. ,th;fs; njw;fhrpahtpd; kpfg;nghpa goq;Fbapd kf;fs; Mth; 
iii. ,th;fs; ,uz;L Kf;fpa FOf;fshf gphpf;fg;gl;Ls;sdh; 
a. i, ii, iii  b. i, ii   c. i, iii  d. ii, iii 

43. Which of the following tribe belong to the backward class and are not classified as tribal? 
a. Todas   b. Badagas   c. Kotas   d. Kurumbas 
gpd;tUtdtw;Ws; ve;j ,dj;jth; gpd;jq;fpa tFg;ig Nrh;e;jth;fs; Mdhy; goq;Fb 
,dj;jth;fshf tifg;gLj;jg;gltpy;iy? 
a. Njhlh;fs;  b. gLfh;fs;  c. Nfhlh;fs;  d. FUk;gh;fs; 
 

44. Which of the following is the World’s first Republic in the world? 
a. Athens   b. Vaishali  c. Pataliputra   d. San Marine 

 gpd;tUtdtw;wpy; vJ cyfpd; Kjy; FbauR? 
 a. Vnjd;];  b. itrhyp  c. ghlypGj;jpuk;  d. rhd; nkhpd; 
 
45. Choose the correct statement about Kalamsat: 

i) It is the world’s lightest satellite. 
ii) It’s weight 68 grams. 
iii) It was designed by Tamilnadu student Rifath Sharook. 
iv) It was launched by NASA on 22 July 2017. 
v) The first to be manufactured Via 3D printing  
vi) It was selected through a competition, ‘Cubes in Space’, sponsored jointly by NASA and 

‘I Doodle Learning’.  
a. i, iii, v, vi  b. i, iii, iv, vi  c. i, ii, iii, v  d. all the above  

 fyhk;rhl; njhlh;ghd gpd;tUk; $w;Wfis Ma;f 
i. ,J cyfpd; vilFiwe;j nraw;ifNfhshFk; 
ii. ,jd; vil 68 fpuhk; 
iii. ,J jkpof khzth; hp/g;ghj; r&f; tbtikj;Js;shh; 
iv. ,J 22 [{iy 2017Mk; Mz;L ehrh VtpaJ 
v. ,J Kjy; Kiwahf Kg;ghpkhz mr;irf;nfhz;L cUthf;fg;gl;ljhFk; 
vi. ,J ehrh kw;Wk; I Doodle Learning vd;w ,uz;L epWtdj;jhy; elj;jg;gl;l ‘Cubes in 

Space’, vd;w Nghl;bapd; %yk; Njh;e;njLf;fg;gl;ljhFk; 
a. i, iii, v, vi  b. i, iii, iv, vi  c. i, ii, iii, v  d. ,it midj;Jk; 
  

46. Match the following: 
A. GPS  - 1. United States  
B. GLONASS  - 2. European Union 
C. GALILEO  - 3. Russia  
D. BEIDOU  - 4. China  
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 3 2 
d. 2 3 1 4 
nghUj;Jf 
A. GPS  - 1. mnkhpf;fh 
B. GLONASS  - 2. INuhg;gpa $l;likg;G 
C. GALILEO  - 3. ,u~;ah 
D. BEIDOU  - 4. rPdh 
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 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 3 2 
d. 2 3 1 4 
 

47. Which of the following is/are incorrectly matched pair/s? 

i) Rachel Carson’s “Silent Spring”    - 1962 

ii) Stockholm UN conference on Human Development - 1976 

iii) Brundtland commission report     - 1987 

iv) Kyto Protocol       - 1997 
a. i and ii  b. iii and iv   c. ii only  c. iv only 
gpd;tUtdtw;wpy; jtwhd ,iziaf; fhz;f 
i. Nur;ry; fhh;rd; vd;ghhpd; Gj;jfk; “mikjp Cw;W”  - 1962 
ii. ];lhf;N`hkpy; eilngw;w kdpj tsh;r;rpf;fhd  

If;fpaehl;L fUj;juq;F      - 1976 
iii. g;uz;l;yhd;L Mizak;      - 1987 
iv. f;Nahl;Nlh newpKiwfs;      - 1997 
a. i, ii   b. iii, iv   c. ii kl;Lk;   c. iv kl;Lk; 

48. Match the following: 
Conference   Year    Place 
A. Cop 15  1. 2009  i. Cancun 
B. Cop 16  2. 2010  ii. Copenhagen 
C. Cop 17  3. 2011  iii. Paris 
D. Cop 21   4. 2015  iv. Durban  
a. a-1-iii b-2-iii  c-3-iv  d-4-i 
b. a-1-ii b-2-i  c-4-iii  d-3-iv 
c. a-2-ii b-1-iii  c-3-i  d-4-iv 
d. a-1-ii b-2-i  c-3-iv  d-4-iii 

 nghUj;Jf 
khehL    Mz;L   eilngw;w ,lk; 
A. Cop 15  1. 2009 i. fd;fd; 
B. Cop 16  2. 2010 ii. Nfhgd;n`fd; 
C. Cop 17  3. 2011 iii. ghhp]; 
D. Cop 21   4. 2015 iv. lh;gd; 
a. a-1-iii b-2-iii  c-3-iv  d-4-i 
b. a-1-ii b-2-i  c-4-iii  d-3-iv 
c. a-2-ii b-1-iii  c-3-i  d-4-iv 
d. a-1-ii b-2-i  c-3-iv  d-4-iii 

 
49. Match the following Discontinuities 

A. Mohorovicic 1. Core and Mantle 
B. Gutenberg  2. Crust and Mantle 
C. Conrad  3. Upper and Lower Crust 
D. Lehmann  4. Upper & Lower Core 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3  
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gpd;tUtdtw;iw nghUj;Jf. 
A. NkhN`hNuhtprpf;  1. Gtpf;fU kw;Wk; ftrk; 

B. Fl;ld;ngh;f;  2. GtpNkNyhL kw;Wk; ftrk; 
C. fhd;uhl;   3. Nky; kw;Wk; fPo; NkNyhL 
D. nyFkd;   4. Nky; kw;Wk; fPo; Gtpf;fU 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3  

 
50. The “100 Smart Cities Mission” was launched on 

a. 25 June 2015  b. 26 June 2015   
c. 15, August 2015  d. 2, October 2015 
“100 rpwe;j efu jpl;lk;” njhlq;fg;gl;lJ vg;nghOJ? 
a. 25 [_d;> 2015  b. 26 [_d;> 2015 
c. 15 Mf];l;> 2015  d. 2 mf;Nlhgh;> 2015 
 

51. The Continental Drift Theory was proposed by ______. 
a. Harry Hess  b. Friedrich Ratzel 
c. Albert Einstein  d. Alfred Wegener 
fz;l efh;T Nfhl;ghL Kd;nkhopag;gl;lJ ahuhy;? 
a. `hhp n`];  b. ngl;hpf; ury; 
c. My;gh;l; Id;];Bd;  d. My;g;ul; Ntfdhh; 
 

52. The Intensity of Earth quake is measured by 
a. Mercalli scale b. Seismograph  c. Richter scale d. None 
Gtp mjpu;tpd; nrwpit mstpLk; fUtp vJ? 
a. nkh;fhyp msit  b. epy mjph;Tkhdp 
c. hpf;lh; msit  d. vJTkpy;iy 
 

53. Find the odd one 
a. Mauna loa – Hawaii  b. Mt. Stromboli - Mediterranean 
c. Pinatubo – Philippines  d. Mt. Kilimanjaro - Africa 
nghUe;jhj xd;iw fz;lwp 
a. kTdhNyhth - `tha;     d. ];l;uhk;Nghyp vhpkiy–kj;jpa jiuf;fly;  
c. gpdhLNgh – gpypg;igd;]; d. fpspkhQ;rhNuh kiy – Mg;gphpf;fh 
 

54. Match the following 
A. World Population day   - 1. May 21 
B. International Mother language day - 2. July 11 
C. World Religious day   - 3. February 9 
D. World Cultural diversity day  - 4. January [3rd Sunday’s] 
E. National Census day   - 5. February 21 
 A B C D E 
a. 2 5 4 1 3 
b. 2 3 4 1 5 
c. 2 3 1 4 5 
d. 2 3 5 4 1 
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nghUj;Jf. 
A. cyf kf;fs;njhif ehs;   1. Nk 21 

B. rh;t Njr jha;nkhop jpdk;   2. [_iy 11 
C. cyf kj ey;ypzf;f ehs;   3. gpg;uthp 9 
D. cyf fyhr;rhu gy;tif ehs;      4. [dthp [3tJ Qhapw;Wf;fpoik] 
E. Njrpa kf;fs;njhif fzf;nfLg;G ehs; 5. gpg;utup 21 
 A B C D E 
a. 2 5 4 1 3 
b. 2 3 4 1 5 
c. 2 3 1 4 5 
d. 2 3 5 4 1 

 
55. Match the following 

A Yercaud  - 1. High Wavy Mountains 
B. Velliangiri  - 2. 70 Hairpin bends 
C. Kolli Hills  - 3. Nature’s Heaven 
D. Meghamalai - 4. Poor Man’s Ooty 
E. Javadi  - 5. 14 Hairpin bends 
F. Yelagiri  - 6. Kailash of South 
 A B C D E F 
a. 4 6 2 1 3 5 
b. 4 6 5 1 3 2 
c. 6 4 5 1 3 2 
d. 5 4 6 3 1 2 
nghUj;Jf. 
A. Vw;fhL  - 1. cah; Nkfq;fs; FtpAk; gFjp 
B. nts;saq;fphp - 2. 70 nfhz;il Crp tisT 
C. nfhy;ypkiy - 3. ,aw;ifapd; nrhh;f;fk; 
D. Nkfkiy  - 4. Viofspd; Cl;b 
E. [t;thJ  - 5. 14 nfhz;il Crp tisT 
F. Vyfphp  - 6. njw;fpd; ifyh~; 
 A B C D E F 
a. 4 6 2 1 3 5 
b. 4 6 5 1 3 2 
c. 6 4 5 1 3 2 
d. 5 4 6 3 1 2 
 

56. Match the following 
A. Point Calimere Wildlife Sanctuary - 1. Ramnad 
B. Vettangudi birds Sanctuary  - 2. Ariyalur 
C. Karaivetti birds Sanctuary  - 3. Coimbatore 
D. Gulf of Mannar Marine Park  - 4. Nagapattinam 
E. Indira Gandhi National Park  - 5. Sivagangai 
 A B C D E 
a. 4 5 2 1 3  
b. 5 4 2 1 3 
c. 5 4 3 2 1 
d. 5 2 4 1 3 
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nghUj;Jf. 
A. Nfhbaf;fiu tdtpyq;F ruzhyak; - 1. uhk;ehL 

B. Ntl;lq;Fb gwitfs; ruzhyak; - 2. mhpaY}h; 
C. fiuntl;b gwitfs; ruzhyak; - 3. Nfhak;Gj;J}h; 
D. kd;dhh; tisFlh flw; G+q;fh  - 4. ehfg;gl;bdk; 
E. ,e;jpuhfhe;jp Njrpa G+q;fh  - 5. rptfq;if 
 A B C D E 
a. 4 5 2 1 3  
b. 5 4 2 1 3 
c. 5 4 3 2 1 
d. 5 2 4 1 3 

 
57. The seismic zones in India was grouped by  

a. National Institute of Disaster Management 
b. Indian Meterological Department 
c. National Institute of Hydrology  
d. Bureau of Indian Standards 
fPo;f;fz;l ve;j mikg;G ,e;jpahit epymjpu;T kz;lyq;fshf tifg;gLj;jpAs;sJ? 

a. Njrpa Nguplu; Nkyhz;ik epWtdk; 
b. ,e;jpa thdpiy Ma;T Jiw 
c. Njrpa ePupay; epWtdk; 
d. ,e;jpa juepu;za epWtdk; 

 
58. Find the incorrect statements 

a. Granite into gabbro caused by dynamic metamorphism 
b. Basalt into slate caused by Thermal Metamorphism  
c. Sandstone into quartz caused by thermal Metamorphism.  
d. Shale into Slate caused by thermal Metamorphism.  
jtwhd $w;iw Nju;Tnra;f. 
a. ,af;f cUkhw;wj;jpdhy; fpuhidl;ghiw ruis kzw;ghiwahf cUkhWfpwJ. 
b. ntg;g cUkhw;wj;jpdhy; fUq;fy; ghiw gyifg; ghiwahf cUkhWfpwJ. 
c. ntg;g cUkhw;wj;jpdhy; kzw;ghiwfs; ntz;ghiwfshf khWfpd;wd. 
d. khf;fy;> gyifg;ghiwahf ntg;g cUkhw;wj;jpdhy; khWfpd;wd. 

 
59. Match the following  

A. Isonif   1. Equal lowest Mean temperature  
B. Isocryme  2. Equal amount of Rainfall 
C. Isohel  3. Equal Snowfall 
D. Isollobar  4. Equal Sunshine  
E. Isohyet   5. Equal Pressure Tendency  
 A B C D E  
a. 4 2 3 5 1 
b. 4 5 3 2 1 
c. 2 5 3 4 1 
d. 3 1 4 5 2 
nghUj;Jf. 
A. INrhep/g;  1. ruhrup rkntg;gepiyf;NfhL 
B. INrhf;iuk; 2. rk kioasTf;NfhL 
C. INrhnfy;  3. rk gdpg;nghopT NfhL 
D. Inry;Nyhghu; 4. rk #upantspr;rf;NfhL 
E. INrhi`l;]; 5. rk fhw;wOj;j khWghl;Lf;NfhL 
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 A B C D E  
a. 4 2 3 5 1 
b. 4 5 3 2 1 
c. 2 5 3 4 1 
d. 3 1 4 5 2 
 

60. Match the following  
A. Chinook   1. Heat wave 
B. Sirocco   2. Snow Eater 
C. Harmattan  3. Blood rain 
D. Loo    4. Doctor wind  
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 3 4 1 2 
d. 4 3 1 2 
nghUj;Jf. 
A. rpD}f;   1. ntg;g miy 
B. rpuhf;Nfh   2. ntk;gdp cz;Zk;fhw;W 
C. `u;khl;lhd;  3. rptg;G (FUjp) kio 
D. Y}    4. kUj;Jtfhw;W 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 3 4 1 2 
d. 4 3 1 2 

 
61. Match the following 

A. Praires  1. Argentina 
B. Savannans  2. North America 
C. Ilanos  3. Africa 
D. Downs  4. South America 
E. Pampass  5. Australia  
 A B C D E 
a. 2 3 4 5 1 
b. 2 4 3 1 5 
c. 2 4 3 5 1 
d. 2 3 5 1 4 
nghUj;Jf 
A. gpiuup];  1. mu;n[z;bdh 
B. rthdh  2. tl mnkhpf;fh 
C. ,yhNdh];  3. Mg;gpupf;fh 
D. lTd;];  4. njd; mnkhpf;fh 
E. ghk;gh];  5. M];jpNuypah 

 A B C D E 
a. 2 3 4 5 1 
b. 2 4 3 1 5 
c. 2 4 3 5 1 
d. 2 3 5 1 4 
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62. The surface temperature of Sun is _________ 
a. 6000°C  b. 5000°C  c. 4000°C  d. 3000°C 
#hpadpd; Nkw;gug;G ntg;gepiy _________ MFk;.  
a. 6000°C  b. 5000°C  c. 4000°C  d. 3000°C 

 
63. Asteroid belt is found between ________ & ________ 

a. Venus, Earth  b. Earth, Mars c. Mars, Jupiter  d. Jupiter, Saturn  
rpWNfhs;fs; kz;lyk; ______ kw;Wk; _______ Nfhs;fSf;fpilNa fhzg;gLfpwJ. 
a. nts;sp> G+kp   b. G+kp> nrt;tha;  
c. nrt;tha;> tpahod;  d. tpahod;> rdp  
 

64. Consider the following statement 
Assertion (A): Mercury experiences extremes of temperature  
Reason (R): Because it has Atmosphere  
a. Both (A) and (R) is correct; R explains A 
b. Both (A) & (R) is correct; R doesn’t explain A 
c. (A) is correct (R) is wrong  
d. (A) wrong (R) correct  
gpd;tUk; $w;iw ftdpf;f  
$w;W (A) : Gjd; kpf mjpf mstpyhd ntg;gj;ij czh;fpwJ.  
fhuzk; (R): Vnddpy; ,J tspkz;lyj;ijf; nfhz;Ls;sJ.  
a. (A) kw;Wk; (R) ,uz;Lk; rhp> (A) Tf;F fhuzk; (R) 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> (A) Tf;F fhuzk; (R) my;y  
c. (A) kl;Lk; rhp (R) jtW  
d. (A) jtW (R) rhp  

 
65. Consider the statements  

1. Venus is called “Moring and Evening star” 
2. The Polar diameter of Earth is 12714 m. 
3. The Equatorial diameter is 12756m 
4. Blue / watery planet is the 5th largest planet 
5. Planet means “Wanderer” 
a. All are correct   b. All are wrong   
c. 1, 2, 4, 5 correct 3 wrong   d. 1, 4, 5 correct 2, 3 wrong 
gpd;tUtdtw;iw ftdpf;f.  
1. nts;sp "fhiy kw;Wk; khiy el;rj;jpuk;> vd miof;fg;gLfpwJ.  
2. Gtpapd; JUt tpl;lk; 12714 kPl;luhFk;.  
3. G+kj;jpa Nuif tpl;lk; 12756 kPl;luhFk;. 
4. ePy / ePh; Nfhs;> 5-tJ nghpa NfhshFk;.  
5. Nfhs; vd;why; Rw;wptUgth; vd;W nghUs;  
a. midj;Jk; rhp    b. midj;Jk; jtW  
c. 1, 2, 4, 5 rhp 3 jtW   d. 1, 4, 5 rhp 2, 3 jtW  
 

66. The Earth revolves around the sun at the speed of  
a. 30 km/s  b. 40 km/s  c. 300 km/s  d. 400 km/s  
Gtp> #hpaid _______ Ntfj;jpy; Rw;wp tUfpwJ.  
a. 30 fp.kP / tp b. 40 fp.kP / tp  c. 300 fp.kP /tp d. 400 fp.kP / tp  
 

67. ISRO launched “Mangalyan Mission” on  
a. 24th June 2014  b. 24th July 2014  
c. 24th August 2014  d. 24th September 2014  
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,];Nuh "kq;fs;ahd; tpz;fyj;ij" nrYj;jpaJ vg;nghOJ? 
a. 24 [Pd;> 2014  b. 24 [Piy> 2014 
c. 24 Mf];l;> 2014  d. 24 nrg;lk;gh;> 2014  

 
68. Match the following  

A. Jupiter    1. Titan 
B. Saturn    2. Triton 
C. Uranus   3. Deimos 
D. Neptune   4. Titania 
E. Mars    5. Callisto  
 A B C D E 
a. 5 1 4 2 3  
b. 3 4 1 2 5  
c. 3 4 1 5 2 
d. 5 3 4 1 2 
nghUj;Jf:  
A. tpahod;    1. ill;ld; 
B. rdp    2. biul;ld;  
C. ANud];    3. Bk];  
D. neg;bA+d;   4. illhdpah  
E. nrt;tha;    5. Nfyp];Nlh  
 A B C D E 
a. 5 1 4 2 3  
b. 3 4 1 2 5  
c. 3 4 1 5 2 
d. 5 3 4 1 2 

 
69. Which Planet appears like a rolling ball 

a. Jupiter  b. Uranus   c. Saturn   d. Neptune  
jd; Rw;Wg;ghijapy; cUz;NlhLtJ Nghd;W fhzg;gLk; Nfhs; vJ?  
a. tpahod;  b. ANud];  c. rdp   d. neg;bA+d;  

 
70. Find the odd Satellite  

a. Europa   b. Eris  c. Makemake  d. Haumea 
 nghUe;jhj Jizf;Nfhis fz;lwpf.  
a. A+Nuhg;gh  b. Vhp]; c. Nkf;Nkf;  d. n`skpah  

 
71. Consider the following statements 

1. Meteorites burn on entering the earth’s Atmosphere. 
2. The Velocity of earth’s rotation varies from zero at poles, 1670 kmph at Equator; 845 

kmph at 60° N& S latitudes  
3. Terminator line separates earth into lighted and dark half.  
4. Earth’s rotation is 23 hours 56 minutes 4.09 seconds.  
5. The zones in Biosphere is called as Ecosystems. 

a. All are correct    b. All are wrong 
c. 2, 3, 4, 5 alone correct   d. 1, 2, 3, 4 alone correct 
 
 
 
 
 



 

18 | Page         APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

gpd;tUk; thf;fpaq;fis ftdp:  
1. tpz;fw;fs; Gtpapd; tspkz;lyj;ij milAk; NghJ vhpfpwJ.  
2. Gtpapd; RoYk; Ntfk; JUtg; gFjpapy; RopakhfTk;> epyeLf;Nfhl;Lg; gFjpapy; 1670 

fp.kP / kzp> 60° tlf;F ml;rNuifapy; 845 fp.kP / kzp  
3. xsph;T tl;lkhdJ Gtpia xspgLk; gFjpahfTk;> xspglhj gFjpahfTk; gphpf;fpwJ.  
4. Gtp xU Kiw RoYtjw;F 23 kzp 56 epkplq;fs; 4.09 tpdhbfs; vLj;J nfhs;fpwJ.  
5. caph;f;Nfhsj;jpy; cs;s "kz;lyq;fs; #oy; kz;lyq;fs;" vd;W miof;fg;gLfpd;wd.  
a. midj;Jk; rhp  b. midj;Jk; jtW  
c. 2, 3, 4, 5 kl;Lk; rhp d. 1, 2, 3, 4 kl;Lk; rhp 

 
72. Which Tamil literature mentions that “Sun is surrounded by Planets”  

a. Perumpannatrupadai  b. Sirupanatrupadai 
c. Silapathikaram   d. Pattinapalai 
"#hpad;> Nfhs;fshy; #o;e;Js;sJ" vd;W Fwpg;gpLk; jkpo; ,yf;fpak; vJ?  
a. ngUk;ghzhw;Wg;gil   b. rpWk;ghzhw;Wg;gil 
c. rpyg;gjpfhuk;    d. gl;bdg;ghiy  

 
73. Match the following  

A. Gibraltar strait  1. Pacific and Artic ocean    
B. Bering strait  2. Bay of Bengal & Palk Bay  
C. Malacca strait  3. Atlantic and Mediterranean sea.  
D. Palk Strait   4. Pacific and Indian Ocean  

A B C D  
a. 1 3 2 4  
b. 3 1 4 2 
c. 1 3 4 2  
d. 2 1 3 4  
nghUj;Jf:  
A. [pg;uhy;lh; ePh;re;jp 1. gRgpf; kw;Wk; Mh;bf; ngUq;fly;  
B. nghpq; ePh;re;jp  2. tq;fhs tphpFlh kw;Wk; ghf; tisFlh  
C. kyhf;fh ePh;re;jp  3. ml;yhz;bf; kw;Wk; kj;jpa jiuf;fly;  
D. ghf; ePh;re;jp   4. gRgpf; kw;Wk; ,e;jpa ngUq;fly;  

A B C D  
a. 1 3 2 4  
b. 3 1 4 2 
c. 1 3 4 2  
d. 2 1 3 4  

 
74. Find the Incorrect pair.  

a. 6° Channel   - Indira point & Srilanka 
b. 8°  channel   - Maldives & Minicoy Islands 
c. 9°  Channel  - Lakshadweep & Minicoy Islands 
d.10° Channel  - Andaman & Nicobar Islands 
rhpahf nghUe;jhj ,iziaj; Njh;T nra;f.  
a. 6°fhy;tha;   - ,e;jpuh Kid & ,yq;if  
b. 8° fhy;tha;   - khyj;jPT & kpdpf;fha;jPT  
c. 9° fhy;tha;   - yl;rjPT & kpdpf;fha; jPT  
d. 10° fhy;tha;   - me;jkhd; & epf;Nfhghh; jPT   
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75. Which of the following statements is/are incorrect? 
1. India is the second largest country in Asia  
2. Seventh largest in the world  
3. India accounts for about 2.2% of the total area of the world 
4. India shares 15200 Km long length of coast line  
5. India’s longest border is with Bangladesh  
6. India shares shortest border with Bhutan  
a. 1, 2, 5  b. 2, 5, 6   c. 3, 4, 6   d. 1, 3, 5     
gpd;tUk; $w;Wfspy; vit jtwhdJ? 
1. ,e;jpah Mrpa fz;lj;jpd; ,uz;lhtJ ngupa ehL. 
2. gug;gstpy; cyfpd; VohtJ ngupa ehL ,e;jpah. 
3. Gtpapy; nkhj;jg; gug;gstpy; ,e;jpah 2.2% 
4. ,e;jpa 15200 fp.kP. ePsKs;s fly; vy;iyiaf; nfhz;Ls;sJ. 
5. ,e;jpah tq;fhsNjrj;Jld; ePz;l vy;iyia gfpu;fpwJ. 
6. ,e;jpah G+lhDld; kpfFWfpa vy;iyiag; gfpu;e;J nfhs;fpwJ. 
a. 1, 2, 5  b. 2, 5, 6   c. 3, 4, 6   d. 1, 3, 5   
 

76. The southernmost point of India ___________ 
a. Indira col    b. Nicobar   
c. Pygmalion point   d. Kanniya Kumari   
,e;jpahtpd; njd;Nfhb Kid ____. 
a. ,e;jpuhNfhy;  b. epf;Nfhghu;   
c. gpf;Nkypahd; Kid d. fd;dpahFkup 
 

77. Choose the correct statements 
1. Out of 13 highest peaks in world, Himalayas holds 8 
2. Kanchenjunga is located between Nepal and Uttarakhand 
3. Major Hill stations are located at Himachal  
4. Khyber pass connects Pakistan and India 
5. Longitudinal Valleys found between Siwaliks and Lesser Himalayas are called Duns 

in the west and Duars in the east      
a. 1, 3, 5 are correct    b. 3, 4, 5 are incorrect  
c. Only 3, 5 are correct   d. Only 1, 2, 3 are correct      
rhpahd $w;Wfis fz;lwpf 
1. cyfpYs;s 13 caukhd rpfuq;fspy; 8 rpfuq;fs; ,kakiyapy; cs;sJ. 
2. fQ;rd; [q;fh rpfuk; Neghsk; kw;Wk; cj;jufhz;l; ,ilNa mike;Js;sJ. 
3. Gfo;ngw;w Nfhil thoplq;fs; ngUk;ghYk; ,khr;ry; njhlupy; mike;Js;sd. 
4. ifgu; fztha; ghfp];jhidAk; ,e;jpahitAk; ,izf;fpwJ. 
5. FWfyhd ePz;l gs;sj;jhf;Ffs; rpwpa ,kakiyf;Fk; ntspg;Gw ,kakiyf;Fk; 

,ilapy; fhzg;gLfpd;wd. ,it fpof;F gFjpapy; ^au;]; vdTk; Nkw;Fg; gFjpapy; 
^d;fs; vdTk; miof;fg;gLfpwJ. 

a. 1>3>5 rhp  b. 3>4>5 rhp  c. 3>5 kl;Lk; rup  d. 1>2>3 rup 
 

78. Consider the following statements 
1. The peak of Anaimudi is the highest point in Western Ghats. 
2. Its height is 2965m and located in Anaimalai. 
a. Both 1,2 are correct  b. Only 1 is correct 
c. Only 2 is correct   d. Both 1, 2 are incorrect 
gpd;tUk; $w;Wfis Ma;f 
1. MidKb vd;gJ Nkw;Fj; njhlu;r;rp kiyapd; caukhd rpfuk;. 
2. ,jd; cauk; 2965 kPl;lu; kw;Wk; ,J Midkiy gFjpapy; mike;Js;sJ. 
a. 1>2 Mfpa ,uz;LNk rup  b. 1 kl;Lk; rup 
c. 2 kl;Lk; rup   d. 1>2 Mfpa ,uz;LNk jtW 
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79. Consider the following  
Assertion (A) : Narmada and Tapti are the two river situated to the south of the Vindhyas 
Flow westward. 
Reason (R) : The movement towards west is due to the presence of rift valley. 
a. Both (A) and (R) are true, and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
c. (A) is true, but (R) is False 
d. (A) is false, but (R) is True 
$w;W (A): eu;kij kw;Wk; jgjp Mfpa ,U MWfSk; tpe;jpa kiyf;F njw;fpy; mike;Js;s 
Nkw;F Nehf;fpg; ghAk; MWfs;. 
fhuzk; (R) : gpsT gs;sj;jhf;F cs;sNj ,t;tpU MWfs; Nkw;F Nehf;fpg; ghaf; 
fhuzkhFk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fky;y  
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup  
 

80. Find out the odd one from the following? 
a. Godavari  b. Narmada  c. Krishna  d. Kaveri 
gpd;tUtdtw;Ws; nghUe;jhj xd;iwf; fz;Lgpb. 
a. Nfhjhtup  b. eu;kij  c. fpU~;zh  d. fhtpup 
 

81. Which of the following statements about Thar desert is/are correct? 
1. World 9th largest sub-tropical desert. 
2. World 17th largest desert. 
3. Actual desert region is Marusthali 
4. Semi desert region is Bhangar. 
a. 1,2,3,4 are correct    b. 1,2 are correct 
c. 3,4 are correct    d. 1,3,4 correct 
jhu; ghiytdk; gw;wp gpd;tUk; $w;Wfspy; rupahdit vit? 
1. cyfpy; 9 MtJ ngupa cg mad kz;ly ghiytdk; 
2. cyfpd; 17tJ kpfg; ngupa ghiytdk; 
3. cz;ikahd ghiytdg;gFjp kU];jyp vd;wiof;fg;gLfpwJ. 
4. miu ghiytdg;gFjp ghq;fu; vd;wiof;fg;gLfpwJ. 
a. 1>2>3>4 rup  b. 1>2 rup  c. 3>4 rup  d. 1>3>4 rup 
 

82. Consider the following statements 
I. The shape of Deccan Plateau is Triangle. 
II. Area of Deccan plateau covers 7 lakh square km. 
a. Both I, II are correct  b. Only I is correct 
c. Only II is correct   d. Both I, II are incorrect 
gpd;tUk; $w;Wfis Ma;f 
I. jf;fhzg; gPlG+kp Kf;Nfhz tbtpy; cs;sJ. 
II. ,jd; gug;gsT 7 yl;rk; rJu fp.kP. 
a. I, II Mfpa ,uz;LNk rup b. I kl;Lk; rup 
c. II kl;Lk; rup   d. I, II Mfpa ,uz;LNk jtW 

  
83. Which of the following statements is/are correct? 

1. Coastal plain between Mahanadi and Godavari is known as the northern circars. 
2. The Southern part lies between Krishna and Kaveri is called Coromandal coast. 
3. Kolleru lake lies between the deltas of Krishna and Kaveri 
4. The pulicat Lake lies in the border of Andhra Pradesh and Tamil Nadu. 
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a. 1,2,3,4 are correct   b. 1,2,4 are correct 
c. Only 1,2 are correct  d. Only 2,4 are correct 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. kfhejpf;Fk; Nfhjhtup ejpf;Fk; ,ilg;gl;l gFjp tlru;f;fhu; vd;wiof;fg;gLfpwJ. 
2. fpU~;zh kw;Wk; fhNtup ejpf;F ,ilg;gl;l gFjp Nrhokz;ly flw;fiu 

vd;wiof;fg;gLfpwJ. 
3. fpU~;zh Mw;Wf;Fk; fhtpup Mw;Wf;Fk; ,ilNa nfhy;NyU Vup mike;Js;sJ. 
4. jkpo;ehL kw;Wk; Me;jpug; gpuNjr vy;iyapy; Gypfhl; Vup mike;Js;sJ. 
a. 1>2>3>4 rhp  b. 1>2>4 rhp  c. 1>2 kl;Lk; rup d. 2>4 kl;Lk; rup 
  

84. Match the following: 
Rivers   Origin  
A. Indus   1. Nasik  
B. Brahmaputra 2. Raipur 
C. Mahandi  3. Chemayungdung  
D. Godavari  4. Kailash range  

A B C D 
a. 4 2 3 1 
b. 4 2 1 3 
c. 4 3 2 1 
d. 4 3 1 2 
 nghUj;Jf 
MWfs;  Njhd;Wkplk; 
A. rpe;J  1. ehrpf; 

B. gpuk;kGj;jpuh 2. uha;g;G+u; 
C. kfhejp  3. nrk;khAq;lq; 
D. Nfhjhtup  4. ifyhr kiyj;njhlu; 
 A B C D 
a. 4 2 3 1 
b. 4 2 1 3 
c. 4 3 2 1 
d. 4 3 1 2 
 

85. Consider the following statements 
I. Normal lapse rate: Temperature decreases at the rate of 65°C for every 1000 meters  
II. Weather refers to the state of atmosphere of a place at a given point of time.  
III. The word ‘monsoon’ is derived from the Arabic word ‘mausim’ which means 

‘season’. 
IV. Sahara desert is the driest place on the earth. 
a. I, II, III, IV are correct  b. I, III, IV are correct 
c. I, II are correct   d. II, III are correct 
gpd;tUk; $w;Wfis Ma;f 
I. ,ay;G ntg;g tPo;r;rp : Gtpgug;gpypUe;J caNu nry;ynry;y tspkz;lyj;jpy; xt;nthU 

1000kP cauj;jpw;Fk; 65°C ntg;gepiy FiwtJ. 
II. thdpiy vd;gJ xU Fwpg;gpl;l ,lj;jpy; cs;s tspkz;lyj;jpd; jd;ikiaf; 

Fwpg;gjhFk;. 
III. “khd;#d;” vd;wnrhy; “nksrpk;” vd;w muG nrhy;ypypUe;J ngwg;gl;lJ. ,jd; nghUs; 

gUtfhyk;. 
IV. r`huhg; ghiytdk; G+kpapNyNa twz;l gFjpahFk;. 
a. I, II, III, IV rup b. I, II, IV rup  c. I, II rup  d. II, III rup 
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86. Which is called as Monsoon Forests? 
a. Tropical Evergreen Forest  b. Tropical Deciduous Forest 
c. Mountain Forest    d. Tropical Dry Forest 
gUtfhyf; fhLfs; vd miof;fg;gLk; fhLfs;? 
a. madkz;ly gRikkhwhf; fhLfs; 
b. madkz;ly ,iyAjpu; fhLfs; 
c. kiyf; fhLfs; 
d. madkz;ly twz;lf; fhLfs;  
 

87. Which of the following soil is very rich in humus? 
a. Laterite soil   b. Alluvial soil 
c. Black soil    d. Mountain soil 
gpd;tUk; ve;j kz;zpy; mjpfkhd ,iykf;F rj;Jf;fs; cs;sd? 
a. ruis kz;   b. tz;ly; kz; 
c. rupry; kz;    d. kiykz; 
 

88. Which of the following statements is/are correct? 
1. Canal irrigation is the second most important source of irrigation in India. 
2. Well irrigation contributes about 62% of net irrigated area in India. 
3. Well irrigation is a very old system in India. 
4. Tank irrigation is popular in north India 
a. 1,2,3,4 are correct    b. 1,2,3 are correct 
c. 1,2 are correct    d. 3,4 are correct 
gpd;tUk; $w;Wfspy; vit rupahdJ? 
1. fhy;tha; ghrdk; ,e;jpahtpd; ,uz;lhtJ kw;Wk; Kf;fpakhd ePu;g;ghrd MjhukhFk;. 
2. ,e;jpahtpd; nkhj;j ghrd gug;gstpy; 62% fpzw;W ghrdj;jpd; fPo; cs;sJ. 
3. fpzw;Wg;ghrdk; ,e;jpahtpd; kpf goikahd ghrdKiwahFk;. 
4. Vupg;ghrdk; tl,e;jpahtpy; ngUk;ghYk; gpd;gw;wg;gLfpwJ. 
a. 1>2>3>4 rup  b. 1>2>3 rup  c. 1>2 rup  d. 3>4 rup 
 

89. Which of the following statements is/are incorrect? 
1. India is the second largest producer of cotton, groundnut, Jute, Tea, Fruits and 

Vegetables in the world. 
2. Arabica and Robusta are two main varieties of tea. 
3. Gujarat is India’s largest oilseeds producing state. 
4. Bohea and Assamica are two main varities of coffee. 
a. 1,2   b. 2,3   c. 3,4   d. 2,4 
gpd;tUk; $w;Wfspy; vit jtwhdit? 
1. ,e;jpah gUj;jp> epyf;fliy> rzy;> Njapiy> goq;fs; kw;Wk; fha;fwpfs; cw;gj;jpapy; 

cyfstpy; ,uz;lhtJ ,lk;. 
2. muhgpfh kw;Wk; nuhg];lh Mfpait Njapiyapd; ,U Kf;fpa tiffs;. 
3. ,e;jpahtpy; F[uhj; khepyk; vz;nza; tpj;Jf;fs; cw;gj;jpapy; Kjyplk;. 
4. G+fp kw;Wk; mrhkpfh Mfpait fhg;gpapd; ,uz;L Kf;fpa tiffs;. 
a. 1>2   b. 2>3   c. 3>4   d. 2>4 
 

90. Which of the following state is the leading producer of Tea in India? 
a. Kerala  b. WestBengal  c. Karnataka  d. Assam 
,e;jpahtpy; Njapiy cw;gj;jpapy; Kjy; khepyk; vJ? 
a. Nfush  b. Nkw;Ftq;fk;  c. fu;ehlhfh  d. mrhk; 
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91. Which of the following statements is/are correct? 
1. First livestock census in India was conducted in 1919 
2. 19th Livestock census was conducted in October 2012 
3. Livestock census conduct Five year once. 
4. India is the third largest producer of fish in the world. 
a. 1,2,3,4  b. 1,2,3  c. 2,3,4  d. 1,3,4 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpahtpd; Kjy; fhy;eil fzf;nfLg;G 1919 Mk; Mz;L elj;jg;gl;lJ. 
2. 19tJ fhy;eil fzf;nfLg;G mf;Nlhgu; 2012 ,y; elj;jg;gl;lJ. 
3. fhy;eil fzf;nfLg;G Ie;jhz;LfSf;F xUKiw vLf;fg;gLfpwJ. 
4. cyfstpy; kPd; cw;gj;jpapy; ,e;jpah %d;whkplk;. 
a. 1>2>3>4  b. 1>2>3  c. 2>3>4  d. 1>3>4 

 
92. Which of the following statements is/are correct? 

1. Coal India Limited (CIL) is the largest coal-producing company in the world. 
2. (NTPC) National Thermal Power Corporation was established in 1972. 
3. The First hydro-electric power station in India established at Darjeeling in 1897. 
4. Neyveli, Mettur, Thoothukudi and Ennore are the important hydro-electric power 
stations in Tamilnadu. 
a. 1,2,3,4 are correct    b. 1,2,3 are correct 
c. 1,3 are correct    d. 2,3 are correct 
gpd;tUk; $w;Wfspy; vit rupahdJ? 
1. ,e;jpa epyf;fup epWtdk; cyfstpy; mjpf epyf;fupia cw;gj;jp nra;fpwJ. 
2. Njrpa mdy; kpd; epiyak; (NTPC) 1972 Mk; Mz;L njhlq;fg;gl;lJ. 
3. ,e;jpahtpd; Kjy; ePu;kpd; epiyak; 1897 ,y; lhu;[pypq;fpy; epWtg;gl;lJ. 
4. nea;Ntyp> Nkl;^u;> J}j;Jf;Fb kw;Wk; vz;Z}u; Mfpad jkpo;ehl;bd; Kf;fpa ePu;kpd; 

epiyaq;fshFk;.  
a. 1>2>3>4 rup  b. 1>2>3 rup  c. 1>3 rup  d. 2>4 rup 
 

93. The first nuclear power station was setup at ____. 
a. Trambay  b. Kalpakkam  c. Narora  d. Tarapur 
,e;jpahtpd; Kjy; mZkpd; epWtg;gl;l ,lk; ____. 
a. l;uhk;Ng  b. fy;ghf;fk;   c. eNuhuh  d. jhuhg;G+u; 
 

94. Which of the following statements is/are correct? 
1. National Newesprit and papermills (NEPA) is at Allahabad district of Uttarpradesh. 
2. The first paper mill of India was started in 1812 at Serampore. 
3. In 1907, Tata Iron and Steel Company was established at Jamshedpur. 
4. The premier automobiles ltd was the first automobile industry of India established in 

1947 at Kurla (Mumbai) 
5. Make in India program was launched in 2015. 
a. 2, 3, 4, 5  b. 2, 3, 4  c. 1, 3, 5  d. 2, 4, 5 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. Njrpa nra;jpfs; kw;Wk; fhfpj Miyfs; (NEPA) cj;jpug;gpuNjrj;jpYs;s 

myfhghj;jpy; mike;Js;sJ. 
2. ,e;jpahtpd; Kjy; fhfpj njhopw;rhiy 1812-,y; Nkw;Ftq;fj;jpy; cs;s nruhk;G+u; 

vd;Dkplj;jpy; epWtg;gl;lJ. 
3. 1907 ,y;  lhlh ,Uk;G kw;Wk; v/F njhopw;rhiy [hk;n~l;G+upy; njhlq;fg;gl;lJ. 
4. ,e;jpahtpd; Kjy; thfdj; njhopyfk; Kk;ig mUfpy; Fu;yh vd;Dkplj;jpy; 1947-,y; 

gpuPkpau; thfd epWtdk; vd;w ngaupy; njhlq;fg;gl;lJ. 
5. ,e;jpahtpy; cUthf;FNthk; jpl;lk; 2015-,y; njhlq;fg;gl;lJ. 
a. 2, 3, 4,5   b. 2, 3, 4  c. 1, 3, 5  d. 2, 4, 5 
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95. Which of the following statements is/are correct? 
1. Demography is the study of population. 
2. India covers 2.2% of the land area of the world. 
3. India comprises 17.5% of the world’s population 
4. One out of every five persons in the world is from India. 
a. 1,3   b. 2,3   c. 1,2   d. 2,4 
gpd;tUk; $w;wfspy; vit rupahdit? 
1. nlkhf;uhgp vd;gJ kf;fs;njhifiag; gw;wp fw;wy;. 
2. cyfpd; nkhj;j epyg;gug;gpy; ,e;jpah 2.2% nfhz;Ls;sJ. 
3. ,e;jpah cyf kf;fs; njhifapy; Rkhu; 17.5% cs;slf;fpAs;sJ. 
4. cyfpy; cs;s Ie;J egu;fspy; xUtu; ,e;jpauhf cs;shu;. 
a. 1,3   b. 2,3   c. 1,2   d. 2,4 
 

96. Which of the following statements about 2011 census is/are correct? 
1. Kerala : The state with highest Sex Ratio and Literacy rate. 
2. India’s Literacy rate is 74.04% 
3. Female literacy is 82.14% 
4. Male literacy is 65.46% 
5. The cities with more than Ten million population are known as “Megacities”. 
a. 1,2,3,4,5  b. 2,3,4,5  c. 1,2,5  d. 2,3,4 
2011 Mk; Mz;L kf;fs;njhif fzf;nfLg;gpd;gb gpd;tUk; $w;Wfspy; vit rupahdit? 
1. Nfush : mjpf ghypd tpfpjk; kw;Wk; mjpf vOj;jwpT nfhz;l khepyk;. 
2. ,e;jpahtpd; vOj;jwpT tPjk; 74.04% 
3. ngz;fspd; vOj;jwpT 82.14% 
4. Mz;fspd; vOj;jwpT 65.46% 
5. gj;J kpy;ypaDf;F Nkyhd kf;fs;njhif nfhz;l efuq;fs; “nkfh efuq;fs;” 

vd;wiof;fg;gLfpd;wJ. 
a. 1,2,3,4,5  b. 2,3,4,5  c. 1,2,5  d. 2,3,4 
 

97. Which of the following statements is/are correct? 
I. The longest National Highway is NH-7 runs from Varanasi to Kanniyakumari. 
II. It covering a distance of 2639km. 
a. Both I, II are correct  b. Only I is correct 
c. Only II is correct   d. Both I & II are incorrect 
rhpahd $w;Wfis fhz;f 
I. ,e;jpahtpy; kpf ePskhd Njrpa neLQ;rhiy NH7 thuzhrpapypUe;J 

fd;dpahFkuptiu nry;fpwJ. 
II. ,J 2639 fp.kP. ePsk; nfhz;lJ.  
a. I, II Mfpa ,uz;LNk rup  b. I kl;Lk; rup 
c. II kl;Lk; rup   d. I, II Mfpa ,uz;LNk jtW  
 

98. Pradhan Mantri Gram Sadak Yojana related to construction of ____. 
a. National Highways  b. State Highways 
c. District Roads   d. Rural Roads 
gpujk ke;jpup fpuhk; rjf; Nah[dh ___ fl;likg;Gld; njhlu;GilaJ. 
a. Njrpa neLQ;rhiyfs;  b. khepy neLQ;rhiyfs; 
c. khtl;l rhiyfs;   d. fpuhk rhiyfs; 
 

99. Border Roads organisation was established in _____. 
a. 1950  b. 1960  c. 1970  d. 1980 
vy;iyg;Gw rhiyfs; Mizak; epWtg;gl;l Mz;L _____. 
a. 1950  b. 1960  c. 1970  d. 1980 
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100. The work participation rate in India is 
a. 37.97%  b. 39.79%  c. 39.97%  d. 37.79% 
,e;jpahtpy; Ntiyapy; gq;Nfw;Nghu; tpfpjk;  
a. 37.97%  b. 39.79%  c. 39.97%  d. 37.79% 
 

101. Which of the following statements about Indian railways is/are correct? 
1. Indian railways network is the largest in Asia and Second largest in the world. 
2. First train steamed off from Mumbai to Thane in 1853 covering a distance of 34km. 
3. Nationalised in 1952. 
4. Headquarter of Indian Railways is New Delhi. 
a. 1,2,3,4  b. 1,2,3  c.1,3,4  d. 1,2,4 
,e;jpa ,uapy;Nt gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpa ,uapy;Nt mikg;G Mrpa mstpy; Kjyplj;jpYk; cyfstpy; ,uz;lhkplj;jpYk; 

cs;sJ. 
2. Kjy; ,uapy; Nghf;Ftuj;J Kk;ig kw;Wk; jhNd efuq;fSf;fpilNa 34 fp.kP. J}uj;jpw;F 

1853 Mk; Mz;L njhlq;fg;gl;lJ. 
3. 1952,y; Njrpakakhf;fg;gl;lJ. 
4. jiyikafk; GJnly;ypapy; mike;Js;sJ. 
a. 1,2,3,4  b. 1,2,3  c.1,3,4  d. 1,2,4 
 

102. Match the following 
Railway Zone    Headquarter 
A. North-east Frontier Railway  1. Guwahati 
B. West-central Railway   2. Mumbai 
C. Western Railway    3. Jabalpur 
D. Southern Railway   4. Chennai 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 2 3 
d. 1 2 4 3 
nghUj;Jf 
kz;lyk;     jiyikaplk;  
A. tl-fpof;F flw;fiu ,uapy;Nt  1. nfsfhj;jp 
B. Nkw;F kj;jpa ,uapy;Nt   2. Kk;ig 
C. Nkw;F ,uapy;Nt    3. [ghy;G+u; 
D. njw;F ,uapy;Nt    4. nrd;id 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 2 3 
d. 1 2 4 3 
 

103. Which of the following statements is/are correct? 
1. Konkan Railway connect Roha in Maharashtra to Mangaluru in Karnataka. 
2. It covers distance of 760km. 
3. Konkan Railways otherwise called as engineering marvel. 
4. Asia’s longest tunnel is in the route of Konkan Railway. 
a. 1,2,3,4  b. 1,2,3  c. 1,2   d. 3,4 
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gpd;tUk; $w;Wfspy; vit rupahdJ? 
1. nfhq;fs; ,uapy;Nt k`huh~;buhtpYs;s NuhfhitAk; fu;ehlfj;jpYs;s kq;f@iuAk; 

,izf;fpwJ. 
2. ,J 760 fp.kP. ePsk; nfhz;lJ. 
3. nfhq;fd; ,uapy;Nt nghwpapay; Jiwapd; mjprak; vd;W miof;fg;gLfpwJ. 
4. Mrpahtpd; kpf ePskhd Ruq;fg;ghij ,t;topapy; mike;Js;sJ. 
a. 1>2>3>4 rup  b. 1>2>3 rup  c. 1>2 rup  d. 3>4 rup 
 

104. Match the following 
Shipyard   Place 
A. Hindustan  1. Mumbai 
B. Garden Reach  2. Vishakapatnam 
C. Kochi Shipyard  3. Kerala 
D. Mazagaon Dock  4. Kolkata 
 A B C D 
a. 1 2 3 4 
b.  2 4 3 1 
c. 1 2 4 3 
d.  2 1 3 4 
nghUj;Jf 
fg;gy; fl;Lk; jsk;  ,lk; 
A. ,e;J];jhd;  1. Kk;ig 
B. fhu;ld; uPr;   2. tprhfg;gl;bdk; 
C. nfhr;rp   3. Nfush 
D. krhfd;   4. fy;fj;jh 

 A B C D 
a. 1 2 3 4 
b.  2 4 3 1 
c. 1 2 4 3 
d.  2 1 3 4 
 

105. Match the following 
International Airport   Location 
A. Indira Gandhi    1. Kolkata 
B. Netaji Subhash Chandra Bose  2. Hyderabad 
C. Rajiv Gandhi    3. Ahamadabad 
D. Sardar Vallabhai Patel   4. Delhi 
 A B C D 
a. 1 2 3 4 
b.  2 3 1 4 
c. 3 1 4 2 
d. 4 1 2 3 
nghUj;Jf. 
ru;tNjr tpkhd epiyak;  ,lk; 
A. ,e;jpuhfhe;jp   1. fy;fj;jh 
B. Nejh[p Rgh~; re;jpuNgh]; 2. i`juhghj; 
C. uh[Pt; fhe;jp   3. mfkjhghj; 
D. ru;jhu; ty;ygha; gNly;  4. nly;yp 
 A B C D 
a. 1 2 3 4 
b.  2 3 1 4 
c. 3 1 4 2 
d. 4 1 2 3 
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106. Consider the following statements 

1. In 2007 the Government merged the Air India and Indian Airlines under National 
Aviation Corporation of India Limited (NACIL). 
2. NACIL (A) provides domestic services. 
3. NACIL (I) provides international services 
a. 1, 2, 3 are correct   b. 2, 3 are correct 
c. only 1 is correct   d. only 3 is correct 
gpd;tUk; $w;Wfis Ma;f 
1. 2007 Mk; Mz;L Vu; ,e;jpah kw;Wk; ,e;jpad; Vu;iyd;]; epWtdq;fs; ,e;jpa Njrpa 

tpkhdk; Nghf;Ftuj;J fofj;jpd; (NACIL) fPo; xUq;fpizf;fg;gl;lJ. 
2. NACIL (A) cs;ehl;L tpkhd Nritia mspf;fpwJ. 
3. NACIL (I) ru;tNjr tpkhd Nritia mspf;fpd;wJ. 
a. 1>2>3 rup  b. 2>3 rup  c. 1 kl;Lk; rup  d. 3 kl;Lk; rup 
 

107. Consider the following statements 
I. Radio Broadcasting in India was started in 1923. 
II. In 1936 it was named as Aakashwani. 
III. In 1957, it was renamed as All India Radio. 
IV. India is the second largest online market after China. 
a. I, II, III, IV are correct  b. I, II are correct 
c. III, IV are correct   d. I, IV are correct 
gpd;tUk; $w;Wfis Ma;f 
I. ,e;jpahtpy; thndhyp xypgug;G 1923-,y; njhlq;fg;gl;lJ. 
II. 1936-,y; mfh~;thdp vd ngau; khw;wk;. 
III. 1957-,y; mide;jpa thndhyp vd ngau; khw;wk;. 
IV. ,iza gad;ghl;by; rPdhtpw;F mLj;jgbahf ,e;jpah cyfshtpy; ,uz;lhkplj;jpy; 

cs;sJ. 
a. I, II, III, IV rup  b. I, II rup  c. III, IV rup d. I, IV rup 
 

108. Consider the following statements 
I. The Indian National Satellite system was established in 1980. 
II. GSAT – 7A is the recent launch (December 19, 2018) for communication programs. 
III. INSAT – 1B launched on 30th August 1983 is the First communication satellite. 
a. I, II, III are correct    b. I, II are correct 
c. II, III are correct    d. I, III are correct 
gpd;tUk; $w;Wfis Ma;f 
I. ,e;jpa Njrpa nraw;iff;Nfhs; mikg;G epWtg;gl;l Mz;L 1980. 
II. brk;gu; 19> 2018,y; [prhl; 7A nraw;ifNfhs; jfty; njhlu;Gf;fhf mDg;gg;gl;lJ. 
III. Mf;];l; 30> 1983 Mk; Mz;L Vtg;gl;l ,d;rhl; 1B jfty; njhlu;Gf;fhf Vtg;gl;l 

Kjy; ,d;rhl; tupir nraw;iff;Nfhs;. 
a. I, II, III rup  b. I, II rup  c. II, III rup  d. I, III rup 
 

109. Among the following which planet takes maximum time for one revolution around the sun? 
a. Mars  b. Jupiter  c. Saturn  d. Uranus 
gpd;tUk; Nfhs;fspy; #hpaid Rw;wp tu ePz;l fhyk; vLj;Jf; nfhs;Sk; Nfhs; vJ? 
a. nrt;tha  b. tpahod;  c. rdp   d. ANud]; 
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110. Which one of the following are inner planets of the solar system? 
a. Planets between the sun and the earth 
b. Planets between the sun and the Jupiter 
c. Planets in gaseous state 
d. Planets without satellite 
#hpa FLk;gj;jpd; cs;sike;j Nfhs;fs; vq;F fhzg;gLfpd;wd? 
a. #hpaDf;Fk;> g+kpf;Fk; ,ilg;gl;l Nfhs;fs; 
b. #hpaDf;Fk;> tpahoDf;Fk; ,ilapyhd Nfhs;fs; 
c. thA epiyapYs;s Nfhs;fs; 
d. Jizf;Nfhs; mw;w Nfhs;fs; 
 

111. Which is called ‘Red Planet’ of Solar System? 
a. Earth  b. Mars  c. Jupiter  d. Saturn 
#hpa kz;lyj;jpd; ‘rptg;G fpufk;’ vd miof;fg;gLtJ vJ? 
a. G+kp   b. nrt;tha;  c. tpahod;  d. rdp 
 

112. Inversion of Temperature occurs during 
a. Short nights 
b. Long summer night and chill night 
c. Long winter night and clear sky 
d. Cloudy sky 
ntg;gk; jiyfPohf khWtjw;f;F Njitg;gLk; #o;epiyfs;  
a. Fiwe;j ,uT   
b. ePz;l Nfhil fhyk; kw;Wk; Fsph; fhw;W  
c. ePz;l Fsph; fhyk; kw;Wk; njspthd thdk;  
d. Nkfk; %ba thdk;  
 

113. “Weather sphere” is known as  
a. Troposphere  b. Thermosphere  c. Stratopause  d. Exosphere  
thdpiy mLf;F vd;wiof;fg;gLtJ 
a.mb mLf;F   b.ntg;g mLf;F   
c.giltsp Kis    d.ntsp mLf;F 
 

114. Karakatau volcano situated in which country? 
a. Japan  b. Italy  c. New Zealand d. Indonesia 
fuflhNth vhpkiy mike;Js;s ehL vJ? 
a. [g;ghd;  b. ,j;jhyp  c. epA+rpyhe;J  d. ,e;NjhNdrpah 
 

115. Which one of the following land form is not associated with wind deposition? 
a. Barchan  b. Drumlins  c. Seif  d. Loes 
gpd;tUk; ve;j epyj;Njhw;wk; fhw;wpd; gbTr; nraYld; njhlh;GilaJ my;y? 
a.gh;fhd;     b. l;uk;ypd;   c. rP/g;   d. Nyha];  
 

116. Match the following: 
Theories    Propounded by 
a. Geographical  cycle  1. Walter Penk 
b. Geomorphic cycle  2. W.M. Davis 
c. Peneplaination cycle  3. Crimkey 
d. Pedeplaination cycle  4. L.C. King 
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A B C D 
a. 2 1 3 4 
b. 1 2 3 4 
c. 3 1 4 2 
d. 4 1 2 3 
gpd;tUtdtw;iw nghUj;Jf. 
  Njw;wq;fs;       tpsf;fTiufs; 
a. Gtpapay; Row;rp    1. thy;jh; ngd;f; 
b. Gtpg;Gwtpay; Row;rp   2. W.M. Nltp]; 
c. ngdpgpidd; Row;rp   3. fphPk;fp 
d. ngbgpidd; Row;rp   4. L.C. fpq; 

A B C D 
a. 2 1 3 4 
b. 1 2 3 4 
c. 3 1 4 2 
d. 4 1 2 3 
 

117. Azores Islands found in? 
a. Pacific Ocean    b. Arctic Ocean 
c. Atlantic Ocean   d. Indian Ocean 
ve;j ngUq;flypy; mN[h]; jPTfs; mike;Js;sJ? 
a. grpgpf; ngUq;fly;    b. Mh;bf; ngUq;fly;  
c. ml;yhz;bf; ngUq;fly;   d. ,e;jpa ngUq;fly;  
 

118. Strong hot wind blow during day time over the northern and north west parts of India are 
called as 
a. Mangoshowers  b. Monsoon  c. Loo  d. Katabatic 
,e;jpahtpy; tlf;F kw;Wk; tl Nkw;F gFjpapy; Nfhil fhyj;jpy; gfy; Neuj;jpy; tPRk; 
typikahd ntg;gf;fhw;W ,t;thW miof;fg;gLfpwJ. 
a. khQ;rhuy;     b. gUtf;fhw;W  c. Y}   d. fl;lhghl;bf;   
 

119. The highest annual range of temperature observed in  
a. Equatorial region    b. Tropical region  
c. Sub-polar region   d.  Polar region 
Mz;L ntg;g tpahg;jp mjpfk; fhzg;gLk; gpuNjrk; 
a.G+kj;jpa Nuif gpuNjrk;  b. mad kz;ly gpuNjrk; 
c.cg-JUt gpuNjrk;   d. JUt gpuNjrk; 
 

120. Which one of the following is the highest cloud in the sky 
a. Cirrus  b. Nimbus  c.  Stratus  d. Cumulus 
gpd;tUtdtw;wpy; vJ tpz;zpy; cah; kl;l Nkfq;fs; MFk;? 
a. fPw;W Nkfk;   b.fhh; Nkfk;   c. gil Nkfk;  d. jpus; Nkfk;  
 

121. In which place the highest temperature found in India? 
a. Lucknow  b. Nagpur  c. Ganga Nagar  d. Ahmedabad  
mjpfstpy; ntg;gepiy fhzg;gLk; ,e;jpahtpd; gFjp vJ? 
a. yf;Ndh  b. ehf;G+h;  c. fq;fh efuk;  d. mfkjhghj; 
 

122. The highest level of coastal erotion is found in the state of  
a. Gujarat  b. West Bengal  c. Kerala  d. Orissa 
mjpf msT flw;fiu mhpg;G Vw;gl;Ls;s khepyk;  
a. F[uhj;   b. Nkw;F tq;fk;   c. Nfush   d. xhp];]h  
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123. The _______ river rises from the plateau of Amarkantak of Maikal Hills of Chhattisgarh. 
a. Sharavati  b. Narmada     c. Tapi  d. Mahi 
rl;B];fhpd; mkh;fz;lf; gPlg+kpapYs;s ikfhy; kiyfspypUe;J cUthFk; MW 
a. rhuhtjp  b. eh;kjh  c. jgjp  d. khfp 
 

124. Which one of the following rivers is shortest in length? 
a. Chambal   b. Damodar  c. The son   d. Kaveri  
fPo;fz;ltw;Ws; kpfr;rpwpa MW vJ? 
a. rk;gy;   b. jhNkhjh;   c. rd;    d. fhtphp  
 

125. Which one of the following mines has the best quality of coking coal 
a. Bailadila  b. Jharia c. Raniganj  d. Singrauli 
gpd;tUk; Ruq;fq;fspy; vq;F jukhd nfhf;fp epyf;fhp fpilf;fpwJ? 
a.nga;yhbah  b. [hhpah c.uhzpfQ;r;  d. rpq;Fuyp 
 

126. The Balaghat mines in Madhya Pradesh is the leading producer of which one of the 
following minerals? 
a. Manganese b. Iron  c. Bauxite  d. copper 
kj;jpa gpuNjrj;jpy; cs;s ghyfhl; (Balaghat) Ruq;fj;jpy; gpd;tUk; ve;j fdpkk; mjpfkhf 
cw;gj;jp nra;ag;gLfpwJ? 
a. khq;fdPR  b. ,Uk;G c. ghf;i]l;  d. fhg;gh; 
 

127. The textile capital of Tamil Nadu 
a. Karur  b. Coimbatore  c. Madurai  d. Tirupur 
jkpo;ehl;bd; nerTj; jiyefuk; 
a. f&h;   b. Nfhak;Gj;J}h;  c. kJiu  d. jpUg;g+h; 

 
128. The soil which is Internationally known as ‘tropical chernozem’ is 

a. Alluvial Soil   b. Black Soil 
      c. Red soil    d. Laterite Soil 

rh;tNjr mstpy; "mad nrh;Ndhrk;" vd;W miof;fg;gLk; kz;  
a. tz;ly; kz;   b. fhpry; kz;  
c. nrk;kz;    d. JUf;fy; kz;  
 

129. Which city is known as the ‘Shrimp capital of India’? 
a. Tuticorin   b. Cochin  c. Chennai  d. Nellore 
,e;jpahtpy; ‘,why;fspd; jiyefuk;’ vd;W mwpag;gLk; efuk; vJ? 
a. J}j;Jf;Fb  b. nfhr;rpd;  c. nrd;id  d. ney;Y}h; 
 

130. Taiga Forest: 
I. These are the largest biome located between 500 and 600 north latitudes. 
II. More than 1700 species of trees are found in the forest. 
III. Trees shed their leaves during summer. 
a. I only correct   b. I and II are correct 
c. I and III are correct  d. I, II and III are correct 
fPo;fhZk; thf;fpaq;fis mbg;gilahf nfhz;L rhpahd tpilia nfhLf;fg;gl;Ls;s 
FwpaPLfspypUe;J Njh;T nra;f. 
I. 500 Kjy; 600 tl ml;rf; NfhLfSf;F mike;Js;s ,e;jf; fhLfNs kpfg; nghpa 

caphpdk; #o;thoplq;fs; MFk;. 
II. ,f;fhLfspy; Vwf;Fiwa 1700 tifahd kutiffs; fhzg;gLfpd;wd. 
III. ,k;kuq;fs; Nfhilfhyj;jpy; ,iyfis cjph;j;JtpLfpd;wd.  
a. I kl;Lk; rhp     b. I kw;Wk; II k; rhp   
c. I kw;Wk; IIIk; rhp     d. I, II kw;Wk; III  k; rhp 
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131. Which of the following is an example of mid-latitude desert? 
a. Sahara desert   b. Arabian desert 
c. Thar desert   d. Patagonian desert 
fPNo nfhLf;fg;gl;Ls;s ghiytdq;fspy; kj;jpa ml;r Nuif ghiytdk; vJ? 
a. rfhuh ghiytdk;    b. mNugpad; ghiytdk;  
c. jhh; ghiytdk;   d. ngl;lNfhdpad; ghiytdk; 
 

132. Consider the  following national parks: 
I. Keoladeo National park  II. Dachigam National park 
III. Gir National park  IV. Manas National Park 
Which of the above National park is\are located North of the tropic of cancer? 
a. I and II only   b. II only 
c. I and IV only   d. I, II and IV only 
gpd;tUk; Njrpa g+q;fhf;fis ftdp:  
I. fpNahyjpNah Njrpa g+q;fh    II. lhl;rpfhk; Njrpa g+q;fh   
III. fph; Njrpa g+q;fh    IV. khdh]; Njrpa g+q;fh  

   Nkw;fz;l Njrpa g+q;fhf;fspy; vJ vit flf Nuiff;F tlf;fpy;   
   mike;Js;sJ?   

a. I kw;Wk;  II kl;Lk;   b. II kl;Lk;   
c. I kw;Wk; IV kl;Lk;   d. I, II kw;Wk;  IV kl;Lk; 
 

133. The largest percentage of forest area in India is found in which of the following regions. 
a. Eastern ghats    b. Himalayan region  
c. Peninsular plateau   d. Western ghats 
fPo;fz;ltw;Ws; ,e;jpahtpy; ve;j gpuNjrk; mjpfstpy; (rjtPjj;jpy;) fhLfspd; gug;guit 
nfhz;lJ? 
a. fpof;F njhlh;r;rp kiy   b. ,kakiy gpuNjrk; 
c. jPgfw;g gPlg+kp    d. Nkw;F njhlh;r;rp kiy 
 

134. In India which state ranks first in maize production? 
a. West Bengal b. Jharkand  c. Karnataka d.  Tamil Nadu 
,e;jpahtpy; ve;j khepyk; kf;fhr;Nrhsk; cw;gj;jpapy; Kjy; ,lk; tfpf;fpwJ? 
a. Nkw;F tq;fhsk;  b. [hh;fhz;l;    c. fh;ehlfk;   d. jkpo;ehL 
 

135. How many percentages of people are engaged in agriculture according to the census of 
2011? 
a. 52.4%  b. 53.6%  c. 54.6%  d. 54.8% 
2011 kf;fs;njhif fzf;nfLg;gpd; gb tptrhaj;jpy; <Lgl;bUe;j ,e;jpa kf;fspd; rjtPjk;  
a. 52.4%  b. 53.6%  c. 54.6%  d. 54.8%  
 

136. “Twisters” are otherwise known as 
a. Tsunami  b. Land slide  c. Earth quake d. Tornado 
“l;Ltp];lh;fs;” ,t;thwhf mwpag;gLfpd;wJ 
a. Rdhkp    b. epyr;rhpT   c. epyeLf;fk;   d. nlhu;dhNlh 
 

137. Eugenics means 
a. Study of conditions affecting an organism 
b. Treatment of a disease 
c. Improvement of human race 
d. Gene therapy 
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kdpj ew;gz;G Nju;T vd;gJ 
a. capupfis ghjpf;Fk; fhuzj;ij mwptJ 

b. Nehapid Fzg;gLj;JtJ 
c. kdpj ,dj;ij Nkk;gLj;JtJ 
d. kugZ rpfpr;ir Kiw 
 

138. How many main ethnic groups are there in Indian Population? 
a. Six main ethnic groups   b. Five main ethnic groups 
c. Four main ethnic groups   d. Seven main ethnic groups 
,e;jpa kf;fs; njhifapy; vj;jid Kf;fpa ,dq;fis nfhz;lJ? 
a. MW Kf;fpa ,dq;fis cs;slf;fpatu;fs; 
b. Ie;J Kf;fpa ,dq;fis cs;slf;fpatu;fs; 
c. ehd;F Kf;fpa ,dq;fis cs;slf;fpatu;fs;  
d. VO Kf;fpa ,dq;fis cs;slf;fpatu;fs; 

 
139. Which of the following oceans are connected by Panama Canal? 

a. Pacific and Indian Ocean  b. Pacific and Atlantic Ocean  
c. Atlantic and Indian Ocean  d. Atlantic and Artic Ocean  
gpd;tUdtw;Ws; gdhkh fhy;tha; %yk; ,izf;fg;gLk; ngUq;fly;fs; vit?  
a. grpgpf; kw;Wk; ,e;jpa ngUq;fly;  
b. grpgpf; kw;Wk; ml;yhz;bf; ngUq;fly;  
c. ml;yhz;bf; kw;Wk; ,e;jpa ngUq;fly;  
d. ml;yhz;bf; kw;Wk; Mh;bf; ngUq;fly;  

 
140. Which of the following continent is not a part of the Gondwana Land? 

a. Africa  b. Antartica  c. Europe  d. Australia 
fPNo nfhLf;fg;gl;Ls;s fz;lq;fspy; vJ Nfhz;Lthdh epyg; gug;ig rhh;e;jJ my;y? 
a. Mg;gphpf;fh  b. mz;lhh;bf;fh c. INuhg;gh  d. M];jpNuypah 

 
141. Which of the following statements regarding soil are correct? 

I. Soil is a dynamic natural element. 
II. It is composed of both mineral and organic matter. 
III. The characteristics of soils depend on parent rock. 
IV. All the soils having a well-developed soil profile 
a. All are correct   b. I, II and III are correct 
c. I, II and IV are correct  d. I, III and IV are correct 
gpd;tUk; kz; Fwpj;jhd thf;fpaq;fspy; rhpahditfs; vit? 
I. kz; khWk; jd;ik nfhz;l ,aw;if fhuzp. 
II. ,itfs; jhJf;fs; kw;Wk; caph; kl;Ffshy; Mdit 
III. ,itfspd; gz;G cUthd ghiwapid nghWj;Nj mikfpd;wJ 
IV. midj;J kz; tiffSk; tsh;r;rpaile;j FWf;F ntl;L Njhw;wj;ij nfhz;bUf;Fk;. 
a. midj;Jk; rhpNa   b. I, II kw;Wk; III kl;Lk; rhp 
c. I, II kw;Wk; IV kl;Lk; rhp  d. I, III kw;Wk; IV kl;Lk; rhp 

 
142. Which of the following landforms are produced by wind action? 

1. Barchan    2. Mushroom rock 
3. Alluvial fans   4. Sand dunes 
a. 1 and 2 only   b. 2 and 3 only 
c. 1, 2 and 4 only   d. 2 and 4 only 
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fPo;f;fz;l epyj;Njhw;wq;fspy; fhw;wpd; nra;ifahy; Njhw;Wtpf;fg;gLk; epyj;Njhw;wq;fs; 
ahit?  
1. gh;f;fhd;     2. fhshd; ghiw  
3. tz;ly; tprpwp   4. kzy; Fd;Wfs;  
a. 1 kw;Wk; 2 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk;  
c. 1> 2 kw;Wk; 4 kl;Lk;  d. 2 kw;Wk; 4 kl;Lk; 

 
143. Consider the following statement, choose the correct answer using codes given below : 

i. India contributes about 60% of the mica in the world. 
ii. Major mica producing' states of India are Andhra Pradesh, Jharkand, Bihar and 

Rajasthan. 
a. (i) only correct    b. (i) and (ii) are correct 
c. (ii) only correct        d. both (i) and (ii) are wrong 
gpd;tUk; $w;Wfis fUj;jpy; nfhz;L rhpahd FwpaPl;bid Njh;T nra;f.  
i. cyfpy; ikf;fh cw;gj;jpapy; ,e;jpah 60 rjtPjk; gq;fspf;fpwJ 
ii. Me;jpug; gpuNjrk;> [hh;fz;l;> gPfhh; kw;Wk; uh[];jhd; Mfpait ikf;fh cw;gj;jp 

nra;Ak; khepyq;fs; MFk;  
a. i l;Lk; rhp    b. i kw;Wk; iik; rhp  
c. ii kl;Lk; rhp    d. i kw;Wk; ii k; jtW  

 
144. Plants and animals living in a area constitutes 

a. Plantation   b. Community c. Population  d. Ecosystem 
jhtuq;fSk;> tpyq;fpdq;fSk; trpf;Fk; ,lj; njhFjpahdJ 
a. Njhl;lg;gFjp  b. r%fk;  c. FOkk;  d. #oy; njhFg;G 

 
145. The world’s smallest land fern is discovered in  

a. Thorn forest of Pakistan  b. Amazon forest 
c. Coniferous forest of Canada d. Western Ghat of India  
cyfpd; kpfr; rpwpa jhtu tif fz;Lgpbf;fg;gl;Ls;s ,lk; 
a. ghfp];jhdpd; Kl;Gjh;fhL  b. mNkrhd; fhL 
c. fdlhtpd; Crpapiyf;fhL d. ,e;jpahtpd; Nkw;F njhlh;r;rp kiy 

 
146. Coniferous trees are found mostly in 

a. Decan Plateau  b. Eastern coast  
c. Western coast  d.  Middle Himalaya   
Crpapiyf; fhLfs; fhzg;glf;$ba ,e;jpahtpd; gFjp vJ?  
a. jf;fhz gPlG+kp  b. fpof;F flw;fiu  
c. Nkw;F flw;fiu   d. kj;jpa ,kakiy  

 
147. Vansda National Park is located in 

a. Assam  b. Uttar Pradesh  c. Gujarat  d. Bihar 
td;];lh Njrpa G+q;fh ________ y; cs;sJ. 
a. m];]hk;  b. cj;jpugpuNjrk;  c. F[uhj;  d. gPfhh;  

 
148. Match the following: 

A. Assam   1. Podu 
B. Andhra Pradesh  2. Mashan 
C. Madhya Pradesh  3. Ponam 
D. Kerala   4. Jhum 
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 A B C D 
a. 3 1 2 4 
b. 2 3 4 1 
c. 1 2 3 4 
d. 4 1 2 3 
nghUj;Jf: 
A. m];]hk;   1. nghL 
B. Me;jpugpuNjrk;  2. khrd; 
C. kj;jpa gpuNjrk;  3. nghd;dk; 
D. Nfush   4. [{k;  

A B C D 
a. 3 1 2 4 
b. 2 3 4 1 
c. 1 2 3 4 
d. 4 1 2 3 

 
149. Match the following 

Crop    States 
A. Wheat  1. Kerala 
B. Rubber  2. Uttar Pradesh 
C. Coffee  3. Maharashtra 
D. Groundnut 4. Karnataka 

A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 1 4 3 
d. 3 4 2 1 
fPo;fz;ltw;iw nghUj;Jf:  
  gaph;  khepyk;  
A. NfhJik  1. Nfush 
B. ,ug;gh;  2. cj;jpugpuNjrk;  
C. fhgp   3. kfhuh~;buh 
D. epyf;fliy 4. fh;ehlfh  

A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 1 4 3 
d. 3 4 2 1 

 
150. In India 75% of the Marine Fishing is contributed by the region of  

a. East Coast    b. North Coast  c. South coast  d. West coast  
,e;jpahtpy; 75% fly; kPd;gpbg;gpy; gq;fspf;Fk; gFjp 
a. fpof;F flw;fiug; gFjp  b. tlf;F flw;fiug; gFjp 
c. njw;F flw;fiug; gFjp  d. Nkw;F flw;fiug; gFjp 

 


